

Simultaneous Quadruple Series Equations Involving Laguerre Polynomials

Indu Shukla

*Department of Physical science, M.G.C.G.V., Chitrakoot,
Satna, M.P.(India)*

Abstract

Lowndes [2] [3] have obtained the solution of some dual series equations involving laguerre polynomials and then solved triple series equations involving Laguerre polynomials. Singh, Rokne and Dhaliwal [4] obtained closed form solution of triple series equations involving Laguerre polynomials and Srivastava [6] have also obtained the solutions of certain dual series equations involving Laguerre polynomials. In the present paper, an exact solution has been obtained for the simultaneous quadruple series equations involving Laguerre polynomials by Noble's [5] modified multiplying factor techniques.

Key words: Integral equation, Series equation, Series equation, Laguerre polynomial.

Subject Classification: 45XX, 45F10, 15A52, 33C45, 42C05.

1. INTRODUCTION

We consider the following Quadruple series equations

$$\sum_{n=0}^{\infty} \sum_{j=1}^s a_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^{\alpha} [(x+d)^k] = \phi_{1i}(x) ; 0 < x < a \quad (1.1)$$

$$\sum_{n=0}^{\infty} \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^{\gamma} [(x+d)^k] = \phi_{2i}(x) ; a < x < b \quad (1.2)$$

$$\sum_{n=0}^{\infty} \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^{\gamma} [(x+d)^k] = \phi_{3i}(x) ; b < x < c \quad (1.3)$$

$$\sum_{n=0}^{\infty} \sum_{j=1}^s c_{ij} \frac{A_{nj}}{\Gamma(\alpha+\beta+ni+p)} L_{ni+p}^{\sigma} [(x+d)^k] = \phi_{4i}(x) ; c < x < \infty \quad (1.4)$$

Where $\alpha + \beta + 1 > \beta > 1 - m$, $\sigma + 1 > \alpha + \beta > 0$, m is a positive integer and $0 < h < \infty$, $0 \leq b < \infty$ and h and b are finite constants. $L_{ni+p}^{\sigma} [(x+d)^k]$ is a laguerre polynomial, p is a non-negative integer. A_{nj} are unknown coefficients to be determine and $\phi_{1i}(x)$, $\phi_{2i}(x)$, $\phi_{3i}(x)$ and $\phi_{4i}(x)$ are prescribed functions for $i = 1, 2, \dots, s$.

$$\sum_{n=0}^{\infty} \frac{A_n}{\Gamma\alpha+n+1} L_n^{\alpha}(x) = \phi_1(x) ; \quad 0 < x < a \quad (1.5)$$

$$\sum_{n=0}^{\infty} \frac{A_n}{\Gamma\alpha+n+1} L_n^{\gamma}(x) = \phi_2(x) ; \quad a < x < b \quad (1.6)$$

$$\sum_{n=0}^{\infty} \frac{A_n}{\Gamma\alpha+n+1} L_n^{\gamma}(x) = \phi_3(x) ; \quad b < x < c \quad (1.7)$$

$$\sum_{n=0}^{\infty} \frac{A_n}{\Gamma\alpha+n+\beta} L_n^{\sigma}(x) = \phi_4(x) ; \quad c < x < \infty \quad (1.8)$$

The Quadruple series equations (1.5), (1.6), (1.7) and (1.8) are a special case of simultaneous Quadruple series equations (1.1), (1.2), (1.3) and (1.4) when $p = 0$, $d = 0$, $k = 1$, $a_{ij} = b_{ij} = c_{ij} = 1$, A_{nj} is replaced by A_n and n_i is replaced by n for $j = 1, 2, \dots, s$ and $i = 1, 2, \dots, s$ and $s = 0$.

$$L_n^{\alpha}(x) = \sum_{k=0}^n \binom{n+\alpha}{n-k} \frac{(-x)^k}{k}, \quad n = 0, 1, 2, \dots \quad (1.9)$$

is the laguerre polynomial of order α and degree n in x .

2. PRELIMINARY RESULTS

(i) The orthogonal property of the laguerre polynomials is given by Erdelyi (1953-54)

$$\int_0^{\infty} e^{-x} x^{\alpha} L_m^{\alpha}(x) L_n^{\alpha}(x) dx = \frac{\Gamma(\alpha+n+1)}{n!} \delta_{m,n}, \quad \alpha > -1 \quad (2.1)$$

where $\delta_{m,n}$ is the kronecker delta.

(ii) Formula (27), pp.190 of Erdelyi (1953-54) in the forms;

$$\frac{d^m}{dx^m} \left\{ x^{\alpha+m} L_n^{(\alpha+m)}(x) \right\} = \frac{\Gamma(\alpha+m+n+1)}{\Gamma(\alpha+n+1)} x^{\alpha} L_n^{\alpha}(x) \quad (2.2)$$

(iii) The following forms of the known results Erdelyi (1953-54)

$$\int_0^\xi (\xi - x)^{\beta-1} x^\alpha L_n^\alpha(x) dx = \frac{\Gamma(n+\alpha+1)\Gamma(\beta)}{\Gamma(n+\alpha+\beta+1)} \xi^{\alpha+\beta} L_n^{\alpha+\beta}(\xi) \tag{2.3}$$

when $\beta > 0, \alpha > -1$ and the second integral

$$\int_\xi^\infty (x - \xi)^{\beta-1} e^{-x} L_n^\alpha(x) dx = \Gamma(\beta) \cdot e^{-\xi} L_n^{\alpha-\beta}(\xi) \tag{2.4}$$

where $\alpha + 1 > \beta > 0$.

3. SOLUTION OF QUADRUPLE SERIES EQUATIONS

We assume that

$$x + d = X^{\frac{1}{k}}, \phi_{1i}(X^{\frac{1}{k}} - d) = \phi'_{1i}(X), \phi_{2i}(X^{\frac{1}{k}} - d) = \phi'_{2i}(X), \phi_{3i}(X^{\frac{1}{k}} - d) = \phi'_{3i}(X), \phi_{4i}(X^{\frac{1}{k}} - d) = \phi'_{4i}(X), d^k = e, (a + d)^k = f, (b + d)^k = g, (c + d)^k = h. \tag{3.1}$$

Then the simultaneous quadruple series equation (1.1), (1.2), (1.3) and (1.4) can be written in the following form:

$$\sum_{n=0}^\infty \sum_{j=1}^s a_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^\alpha(X) = \phi'_{1i}(X) ; e < X < f \tag{3.2}$$

$$\sum_{n=0}^\infty \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^Y(X) = \phi'_{2i}(X) ; f < X < g \tag{3.3}$$

$$\sum_{n=0}^\infty \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^Y(X) = \phi'_{3i}(X) ; g < X < h \tag{3.4}$$

$$\sum_{n=0}^\infty \sum_{j=1}^s c_{ij} \frac{A_{nj}}{\Gamma(\alpha+\beta+ni+p)} L_{ni+p}^\sigma(X) = \phi'_{4i}(X) ; h < X < \infty \tag{3.5}$$

We assume that

$$\sum_{n=0}^\infty \sum_{j=1}^s a_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^\alpha(X) = \phi''_{1i}(X) ; 0 < X < e \tag{3.6}$$

Combining the series equations (3.6) and (3.2), we can write the simultaneous quadruple series equations (3.6) and (3.2) in the form

$$\sum_{n=0}^\infty \sum_{j=1}^s a_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^\alpha(X) = \phi_{1i}(X) ; 0 < X < f \tag{3.7}$$

$$\sum_{n=0}^\infty \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^Y(X) = \phi_{2i}(X) ; f < X < g \tag{3.8}$$

$$\sum_{n=0}^\infty \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(\alpha+1+ni+p)} L_{ni+p}^Y(X) = \phi_{3i}(X) ; g < X < h \tag{3.9}$$

$$\sum_{n=0}^{\infty} \sum_{j=1}^s c_{ij} \frac{A_{nj}}{\Gamma(\alpha+\beta+ni+p)} L_{ni+p}^{\sigma}(X) = \phi_{4i}(X) \quad ; h < X < \infty \quad (3.10)$$

$$\text{where, } \phi_{1i}(X) = \begin{cases} \phi_{1i}''(X) & ; \quad 0 < X < e \\ \phi_{1i}'(X) & ; \quad e < X < f \end{cases} \quad (3.11)$$

$$\phi_{2i}(X) = \phi_{2i}'(X) \quad , \quad \phi_{3i}(X) = \phi_{3i}'(X) \quad , \quad \phi_{4i}(X) = \phi_{4i}'(X) \quad (3.12)$$

Multiplying equation (3.7) by $x^{\alpha}(\xi - x)^{\beta+m-2}$ and integrating with respect to X over $(0, \xi)$ and first fractional integral formula (2.3) we get,

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{j=1}^s a_{ij} \frac{A_{nj}}{\Gamma(ni+\beta+p+\alpha+m)} L_{ni+p}^{\beta+\alpha+m-1}(\xi) \\ &= \frac{\xi^{-\beta-\alpha-m+1}}{\Gamma(\beta+m-1)} \int_0^{\xi} X^{\alpha}(\xi - X)^{\beta+m-2} \phi_{1i}(X) dX \end{aligned} \quad (3.13)$$

Now multiplying both sides of equation (3.13) by $\xi^{\beta+\alpha+m-1}$ and differentiating both sides 'm' times with respect to ξ and using the derivative formula (2.2) we get,

$$\sum_{n=0}^{\infty} \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(ni+\beta+p+\alpha)} L_{ni+p}^{\beta+\alpha-1}(\xi) = \sum_{j=1}^s e_{ij} \frac{\xi^{-\beta-\alpha+1}}{\Gamma(\beta+m-1)} \frac{d^m}{d\xi^m} \int_0^{\xi} X^{\alpha}(\xi - X)^{\beta+m-2} \phi_{1i}(X) dX \quad (3.14)$$

where e_{ij} are the element of the matrix $[b_{ij}][a_{ij}]^{-1}$ and $0 < \xi < y, \alpha > -1, \beta + m > 1, i = 1, 2, 3, \dots, s$.

Equation (3.14) can be written as,

$$\sum_{n=0}^{\infty} \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(ni+\beta+p+\alpha)} L_{ni+p}^{\beta+\alpha-1}(\xi) = \sum_{j=1}^s e_{ij} \frac{\xi^{-\alpha-\beta+1}}{\Gamma(\beta+m-1)} \phi_1(\xi) \quad (3.15)$$

Multiplying both sides of equation (3.10) by $e^{-X}(X - \xi)^{\sigma-\beta-\delta}$ and integrate with respect to X over (ξ, ∞) and using the second fractional integral formula (2.4) we get,

$$\sum_{n=0}^{\infty} \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(ni+\alpha+p+\beta)} L_{ni+p}^{\alpha+\beta-1}(\xi) = \frac{e^{\xi}}{\Gamma(\sigma-\beta-\alpha+1)} \int_{\xi}^{\infty} e^{-X}(X - \xi)^{\sigma-\beta-\alpha} \phi_{4i}(X) dX \quad (3.16)$$

which can be written as,

$$\sum_{n=0}^{\infty} \sum_{j=1}^s b_{ij} \frac{A_{nj}}{\Gamma(ni+\alpha+p+\beta)} L_{ni+p}^{\alpha+\beta-1}(\xi) = \frac{e^{\xi}}{\Gamma(\sigma-\beta-\alpha+1)} \phi_4(\xi) \quad (3.17)$$

Where $\xi < x < \infty$ and $\sigma + 1 > \beta + \delta > 0$.

Left hand sides of equation (3.15), (3.17), (3.8) and (3.9) are identical hence on using the orthogonal relation (2.1)

$$\begin{aligned}
 A_{nj} = & \sum_{j=1}^s d_{ij} \left[\sum_{j=1}^s \frac{e_{ij} (ni+p)!}{\Gamma(\beta+m-1)} \int_0^a e^{-\xi} L_{ni+p}^{\beta+\alpha-1}(\xi) \Phi_1(\xi) d\xi \right. \\
 & + \int_a^b e^{-\xi} \xi^{\beta+\alpha-1} L_{ni+p}^{\beta+\alpha-1}(\xi) \Phi_2(\xi) d\xi + \int_b^c e^{-\xi} \xi^{\beta+\alpha-1} L_{ni+p}^{\beta+\alpha-1}(\xi) \Phi_3(\xi) d\xi \\
 & \left. + \sum_{j=1}^s \frac{g_{ij} (ni+p)!}{\Gamma(\sigma-\beta-\alpha+1)} \int_c^\infty \xi^{\beta+\alpha-1} L_{ni+p}^{\beta+\alpha-1}(\xi) \Phi_4(\xi) d\xi \right] \tag{3.18}
 \end{aligned}$$

Where, $n = 0, 1, 2, \dots$ and d_{ij} are the elements of the matrix $[b_{ij}]^{-1}$.

$$\begin{aligned}
 \Phi_1(\xi) = & \frac{d^m}{d\xi^m} \int_0^\xi X^\alpha (\xi - X)^{\beta+m-2} \Phi_{1i}(X) dX, \Phi_2(\xi) = \Phi_{2i}(X), \Phi_3(\xi) = \Phi_{3i}(X), \\
 \Phi_4(\xi) = & \int_\xi^\infty e^{-X} (X - \xi)^{\sigma-\beta-\alpha} \Phi_{4i}(X) dX \tag{3.19}
 \end{aligned}$$

Provided that $\alpha + \beta + 1 > \beta > 1 - m$, $\sigma + 1 > \alpha + \beta > 0$, m being a positive integer with the help of (3.11), (3.19) can be written in the form

$$\begin{aligned}
 \Phi_1(\xi) = & \frac{d^m}{d\xi^m} \left[\int_0^e X^\alpha (\xi - X)^{\beta+m-2} \Phi_{1i}''(X) dX + \int_e^\xi X^\alpha (\xi - X)^{\beta+m-2} \Phi_{1i}'(X) dX \right], \\
 & e < \xi \tag{3.20}
 \end{aligned}$$

REFERENCES

- [1] Erdelyi, A: (1953-54) "Higher Transcendental functions", Mc Graw Hill, Newyork vol. I, II, III, pp.190-293,
- [2] Lowndes, J.S.: (1968) "Some dual series equation involving Laguerre polynomials", Pacific J. Maths.25, pp.123-127.
- [3] Lowndes, J.S.: (1969) "Triple series equation involving Laguerre polynomials", Pacific J. Maths.29 (1), pp.167-173.
- [4] Singh, B.M. Rokne, J. and Dhaliwal, R.S.,:(2010) " On closed –form solution of triple Series equations involving Laguerre polynomials" Ukrainian Mathematics Jour. , 62(2) , pp. 259-267.
- [5] Noble, B.,:(1963) "Some dual series equations involving Jacobi polynomials," proc. Camb. phil. soc., 59, pp.363-372.
- [6] Srivastava, H.M.,:(1969) "A note on certain dual series equation involving Laguerre polynomials" pacific J. Maths, 30, pp. 525-527.

- [7] Panda, R.:(1977) “Certain Dual series equations involving Laguerre polynomials”, *Indag Math*, 39, pp. 122-127.
- [8] Mathur, P.K. and Singh, A. :(2012) “Certain simultaneous five tuple series equations Involving Laguerre polynomials” *ultra-scientist*, 24, pp. 419-423.
- [9] Narain, K.:(2013) “Certain simultaneous triple series equations involving Laguerre Polynomials” *Mathematical theory & modelling*, 3, pp. 129-131.
- [10] Mudaliar, R.K. and Narain, K.:(2016) “Certain Dual series equations involving Generalized Laguerre polynomials” *Int. Jour. of computational and applied Mathematics*, 11, pp. 55-59.